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Mathematics
Items highlighted in yellow are tasks for you to complete
Items in Blue italics are help tips

Level 4 Green Mathematics Quiz

(Print on green paper)

Answer all questions

Question 1
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A 4×4×4 cm cube weighs one kilogram. If the length, width and height of the cube are doubled, how much will the new cube weigh?
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Answer 8kg

Question 2
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A water weed grows in a dam. The weed doubles in area every day and takes exactly 30 days to completely cover the surface of the dam.

After how many days is the dam half covered in weed?

Answer 29 days
Question 3

Put the numbers 1, 2, 3, 4, 5, 6, 7, 8 and 9 in the square above so that each row, column and diagonal adds up to 15.

	8
	1
	6

	3
	5
	7

	4
	9
	2


Answer or any that work

Question 4
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At the 2005 tri nations final, ¾ of the spectators supported the Wallabies, half of the remaining spectators supported New Zealand and the remaining 7,000 were ‘neutral’. How many spectators attended the final?

Answer 56,000
Question 5

a*b = a² + 3b

For example:


2*3 = (2)² + 3 (3)




= 4 + 9




= 13

Find a and b if


a*b = 37

Answer 

A=1, b = 12 or

A=4, b = 7 or

A=5, b = 4 or

Question 6

I have a collection of sheep, beetles and birds. There are 42 legs and 10 heads.

There are 



Sheep









Beetles









Birds
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Answer: or any that work
Question 7



Tap A can fill a bath in 10 minutes while Tap B fills the same bath in 15 minutes. If A and B are both turned on, how long will it take to fill the bath?

Answer: 6 minutes
8. Green



The trip from Town A to Town B is exactly 100km. If I travel there at 100km/h and back at 150km/h what is my average speed for the total journey, there and back? 

Answer: 120km/h
9. Green






Follow the pattern and find the missing number

Answer: 19



10. Green



If y = 2x and z = 2y, then x + y + z = ?

a) x

b) 3x

c) 5x

d) 7x

e) 9x

Answer: d 7x

11. Green

Place the numbers 2, 3, 4, 5, 6, 7, 8, 9 and 10 in the boxes so that the sum of the numbers in each of the circles is 27.


Answers

12. Green
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A boy has as many sisters as he has brothers, but each of his sisters has twice as many brothers as she has sisters. How many boys and girls are there in the family?

Answer: 4 boys 3 girls
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Choose the correct answer
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